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GENERAL INSTRUCTIONS - TO THE EXAMINEES :

1) udiemeff TdgYm 31U 99T U WX AR HawEd: e |
Candidate must write first his / her Roll No. on the question paper
compulsorily.

2) weft gy srfam §
All the questions are compulsory.

3) eI U T ST A T3 IW-Yieaent ¥ & o |
Write the answer to each question in the given answer-book only.

4) TS99 99 # ATaiieh @S §, 37 At & I U A1 & |
For questions having more than one part, the answers to those parts are
to be written together in continuity.

5) U9 UH % Tt 9 S U W ToREt TR 6l e / orvaw / o g9
&=t vt o Uea R @ W U
If there is any error/difference/contradiction in Hindi & English versions
of the question paper, the question of Hindi version should be treated
valid.
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6) i) I U UT I WUE W faweh g - 371 3R @)

i) w@ug ‘v |t e & foru erfAawt )

iii) WUg ‘@ & I 9N &, Ak WHT W A1d U9 2 | udiereft st foret uer wmr & @sht @ra
¥l hI TA HET T

1)  This question paper contains two Sections - A and B.

1) Section 'A' is compulsory for all candidates.

ii1)) Section 'B' has two portions. Every portion has a set of seven questions.
Candidate can attempt only a set of seven questions of any one portion.

7) w@ug Iy W&l 3 Tk T

H 1-8 1
9-14 2

15-21 4

22-23 6

E) 24-25 1
26-27 )|

28-29 4

30 6

Y

24-25 1

26-27 2

28-29 4

30 6

Section Q. Nos. Marks per question

A 1-8 1
9-14 2

15-21 4

22-23 6

B 24-25 1
26-27 2

28-29 4

30 6

OR

24-25 1

26-27 2

28-29 4

30 6

8) WvA wEAT 22 (Wus-3A) aur 30 (Wue-9) U ATaieh faeheq 2|
There are internal choices in Q. No. 22 (Section-A) and Q. No. 30 (Section-B).
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@ s - A
SECTION - A

1) U®s ®H ¥ Argerl Y stftreran gaeat ht Hiur = 27 [1]
What is maximum limit on number of partners in a firm?

2) wreieR & Fafa & awa geewt ®§ wire 50,000 T w e § s@et gea 5,000 X
¥ T 21 39 TFe H ot utafte fifa| [1]
At the time of retirement of a partner plant is shown in the books at X 50,000. It
is increased by X 5,000. Prepare Journal entry for it.

3) wrger & fAght w agw S diferedt @ fog # e gea w e st §)| s« arEer
=31 farg 1 Freay 1 fvers a3 1]
At the time of retirement of a partner, at which-value Joint life policy account is
shown in Balance:Sheet. When partners-decide to show it in the books.

4) Toret orET a9 & wET wrEseR -6l 9eg @i fafd a% SHeh ol ¥ fEew iy o o
faferat & am foratl [1]
Write down the name of methods from which share of profit of a deceased
partner is calculated during the accounting year upto the date of the death of a
partner.

5) FuHA W YEqeht ® T f@m M giiea 1 A geaeht | T8 foeg w8 vy ¥ s
W TS WA aTet afafte faiad) [1]
At the time of dissolution, a liability which is not shown in the books is settled
by asset, which is not shown in the books, write entry which is made for it?

6) @It Tk W] FH W AR gt 7 R 9 arer s e v ferled) [1]
Write down the rate of interest, which is given on calls-in-advance, when
Table - F applies.

7) 100 X ot ek 12% woraa &t e 110 T feran e fSraent snem 120 T o foman
ST 1 woras fatae Y ues wfafte aamga (feramor & stragaeran =1d) [1]
One 12% Debenture of X 100 is issued at X 110, which is redeemable at X 120.
Make a Journal entry for issue of debenture. (Narration is not required).
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8)

9)

10)

11)

12)

4
Jfe Ucdeh Wg ATEHT 31U E o foraan 2 a1 Uk Wg-drgHt grT SUR ATe "= U uTed
e F & A W R T AT = g o et e d w1
A co-venturer sold the goods on credit and received a bill, which is discounted
by bank, in which account he will show the discount on bill charged by the
bank in his books. When each venturer incorporates his own transactions.

T oft 3:2 H oW aied gC WHER B €Y i et # 14 9wt o ot wem 3o wwa s
afer gfd w=r@ @1 9w 10,000 X g wer # fomman o §1 waw & @wa it W et
iR gfafte AR/, afe za arary 8 o wig gean @ & 2 (oo 6 ermavaeRan
&) [2]
A and B are partners sharing profit in the ratio of 3:2. At the time of admission
of C for Y4 share, worksmen compensation reserve account is shown for X 10,000
in liability side. Give the accounting entry for-it, at the time of admission, if no
other information_is_given. (Narration is not required)

TIFA TTEE TS HARERT | &z g = e | [2]

Write down any four differences.between joint venture and partnership.

HeTeh g W AT 1 Y07 Shed UF, siioich Godl W IITTHA o1 o JHTd Sl THTd & &
ToTU Srwes Rt gedeh © ST ST STcil SR GRE A Storeedn gt | (forawor 6 sravashan
) [2]
When goods are consigned at invoice price, give four journal entries which is
shown in the books of consigner to abolish the effect of profit element in invoice
price. (Narration is not required)

T 60,000 X & i goa 1 AT U9UT TeRaT| Swoft 3 3Ew @ emen wrer 30,000 X |
AT 9w "1 40,000 T # o= faam| 98 5% A wHivE J 20% AfawTe e ured
HH w1 AR T T G Afawrelt wHvE et i ot = ) [2]
A consigned goods of X 60,000 at invoice price. Consignee sold half of goods
at X 30,000 and remaining goods for X 40,000. He is entitled 5% general
commission and 20% over-riding commission. Calculate the amount of general
and over-riding commission.
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13) wifta @ YA @raT a9Td 96 TR 7el @l 39 @Td | sl W fewman serm: - [2]
1) <Te] a9 1 SRl dad
2) worht grafa 6 foasht w oot
3) Y& TiiE T
4) e @ ® fafam w sfia sa= S g 2
While preparing Receipts and Payments Account, where the following items are
shown in this account:
1) Current year's outstanding salaries
2) Amount received on sale of fixed assets
3) Books purchased in cash
4) Interest earned on investment during year, which is still due.

14) sma-=gg wWrar 9 fugr s=ma aua fifea et wr-wgi w fewmn s 2]
1) adFa | wiftq
2) YA Yok

While preparing Income and-Expenditure Account and Balance Sheet, where
the following items. will be shown:

1) Legacies

2) Entrance fees

15) fea = fueg swwer: 50,000 X & 30,000 X <t U=t o wrer Azer g e w foem &
¥ gd wH &1 @y 49,200 T 31 | 2017 it quTd 99 & ferw om) 4]
i) Ut W 5% arfie X | saw fea @ g
ii) ¥ew & foska W 2% wivA fean s g, fasea 2,00,000 X 2
iii) forg = feravor s w9 @1 10% e (38 woE o g @ gd) faan s §)
iv) =g futa feran e fom fasem o« &1 10% @= o srafia feran s |
v) 9| 3 wH @t 20,000 X w1 feames 1.4.2016 w6t fean g enw-gie @mar (afe
SATAFh BT) AT A -1 Tt w@mar 31 ur=t 2017 st @umed g aret a9 o fore
TS |

Rashmi and Pintu are partners with capital of X 50,000 and X 30,000. The

profit for the year ended 31 March 2017 amounted to ¥ 49,200 before

considering the following :

1)  Interest on capital is to be allowed @ 5% p.a.

ii) Rashmi is allowed 2% commission on sales, sales was ¥ 2,00,000.

ii1) Pintu is allowed commission @ 10% on divisible profits (before charging
his commission and reserve).
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iv) It is decided to transfer 10% of divisible profit to Reserve Account.
v) Rashmi had advanced a loan of X 20,000 to firm on 1.4.2016. Prepare
Profit and Loss Account (if necessary) and Profit and Loss Appropriation
Account for the year ending 31* March, 2017.

16) i, 7 9 AR Tk ®H | 2:2:] § @ Fied L AEER ¢ BH 1 T AEERT & e W
Teh T Sitaq s utreret 1,00,000 X <t TR 1.4.2013 <kt &t | dTfetsit st awgor
Ted 39 TR g 31.3.2014 =t 3=, 31.3.2015 =t 3,000 X,31.3.2016 =t 8,000 X
wa 31.3.2017 =t 10,000 X | w# 7,000 X =i Hifeem ufaad 1 emoe &t geerdt E1
gfe iftrem =t faf=m g smar € qon og v geg 1.7.2017 =1 € 8| |t awt & foo
T e difereh T A [4]
P, Q and R are the partners in a firm sharing profit in the ratio of 2:2:1. The firm
had taken a Joint life policy for X 1,00.000 on the lives of all the partners on
1.4.2013. The Surrender value of policy is as under: on 31.3.2014 Nil ;
31.3.2015 X 3,0005:31.3.2016 X 8,000 and"on 31.3.2017 ¥ 10,000. The firm
pays X 7,000 annual premium every year on 13 April. If premium is treated as
investment and ' Q died on-1.7.2017. Prepare Joint Life Policy Account for all
the years.

17) R, T8 @ & Tk w6 § "Eer €1 31w 2017 @i o o fug fm wewr g [4]
gt 31w 2017 =

e () | wwaraat afn(X)
YSit: R 20,000 | fafay wwafaat 1,00,000
T 20,000 | qsft: & 3,000

TR 63,000
1,03,000 1,03,000

31 ar=t 2017 st &t & faarferan g w & @1 g W T ) & @ 55 ot age A
T "et| wH 6 weafaat & 40,000 T g gU1 TR g W Em @ W qwE W
YA W TG | SHeA <Rl T AEER T1g T e g
R, S and T are Partners in a firm. Balance Sheet as on 31% March 2017 of the
firm is as follows:

Balance Sheet on 31% March, 2017

Liabilities Amount Assets Amount
3 3
Capital : R 20,000 Sundry Assets 1,00,000
S 20,000 Capital: T 3,000
Creditors 63.000
1,03,000 1,03,000
SS—30-Accountancy 1063
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7
The firm is dissolved on 31% March, 2017, due to T became insolvent. None is
realised from T. X 40,000 is realised from the assets of the firm. Prepare necessary
accounts on dissolution, when Garner vs. Murry rule applies. Loss on realisation
is not brought in cash by the partners.

18) us wwuHt o smfdes Tog W FfeiRaa wet &t o TR siive @ 3u vitdeRt & o=avia
o [4]
1) orartaa e
0)  wfrwfy sftem
3) AT ATHII
4) wHreptaat
5) RUaA
6) SIRm |m
7) @ % foru smaH
8) gdaw st
Under which head.and sub-head will you show the folloewing items in the Balance
Sheet of a company?

1) Unclaimed dividend
2)  Securities Premium
3) Proposed dividend
4) Acceptances

5) Debentures

6) Calls-in-Advance

7) Provision for tax

8) Prepaid Insurance

19) ‘& a ‘d aret & g foska o foTu wgaa Omee | Ty d g A S SRTER—sRTeR died
1% F 40,000 T =1 "re wlier) A F ot 60,000 X w1 AT @lEr ‘W A 9 e
45,000 X & =t’ 7 %3 "t 70,000 X # s=n| 9w @1 w6 7 8,000 X # o foran| e
ATEH el T & o WA 2 | T ATt foh eeni | SITavareh @id sHTSY a2 e
ATgH AgRI & e9—gIA Y TuET 3g it sy @At s | [4]
'K' and V' entered into joint venture to purchase and sales of goods, sharing
profit in equal ratio. 'K' purchase goods for X 40,000. 'V' also purchased goods
for X 60,000. 'K' sold part of goods for X 45,000 and '"V' sold part of goods for
X 70,000. Remaining goods is taken by 'K' for X 8,000. Each venturer records
his own transactions only. Prepare necessary accounts in the books of both
venturers and also prepare necessary account to calculate the profit and loss of
Joint venture transactions.
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20) =1 = 100 wgfehet wiet st 2,000 X ufa A3fhe o Hed U J9or W §sit| |/t | 10
ATgTohet geleT T%d Bl TS AT 3hd qod o1 4 378 aget gatT| Uweht = 70 |rsferet 2,500
X ufq wréfere 1 g & o= &t qon ot e g9 W 1,800 X =0t & 7 2,000 X fersea
= genrd | AT et & g 6 10,000 X oget gul e grie | fomn foes w2t @
Tearerd shiferd | we 7 5,000 X Swor =99 & gwr| [4]
Karan sent 100 cycles to Sweeti @ X 2,000 per cycle on consignment. On the
way 10 cycles are destroyed and Y of the purchase price is received from them.
Consignee sold 70 cycles @ X 2,500 per cycle and paid octroi X 1,800 and
selling expenses X 2,000 after receiving the goods. X 10,000 is realised from
insurance company for loss. Calculate value of abnormal loss and unsold stock.
Consigner paid X 5,000 for consignment expenses.

21) feAifeRa gamTeti ® 31 wre 2017 1 @HIG gH aTel 99 o A -99 Wid 9 39 T &l

T A 9T fag # Tt wrasell geeet s gerisa | [4]
£

TRITE @ HY 3,00,000

12% et s fafEn (Iritres) 1,50,000

T4 & I A W oh T =T 1,00,000

T4 & IR WA w1l & o8 q1ed g 40,000

a9 & atfw fe7 1,00,000 X gea & eferet

2| & 29 T ° uE R -

Hy = w aa s = 15,000

i e 2a@ W g 518 R 10% aniies ) -

From the following information, calculate the amount which will be shown in
Income and Expenditure Account for the year ending 31* March 2017 and in
Balance Sheet on that date for sports events.

]
Opening Games fund 3,00,000
12% Games fund Investment (opening) 1,50,000
Expenses on games during the year 1,00,000
Donation received for games during the year 40,000

On the last date of the year a table for Table -

Tennis received as donation worth ¥ 1,00,000 -
Interest received from fund Investment 15,000
Depreciation is allowed @ 10% per annum on

the value of table of Table Tennis -
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22) ua st 2:1 % U@ H oW sed g1 31 W 2017 = fagt e wen € c-
frzr 31 W=t 2017 =

[6]

TR (%) gt o (3)
WTER 21,000| ¥ 10,000
A 9,000| <IER 30,000
geft:ar - 40,000 wiw 20,000
T 30,000 70,000 | wa= 30,000
TR 10,000

1,00,000 1,00,000

1 318 2017 <Rt &t hi TTSERT W AT TehaT T=T| =T oM fawTi= erguma 3:2: 1
g | Fifera TSt & @1 @ wH H oud fE % SI{ER ISt Tg @t E)

1)
2)
3)

4)

it Tt & ferw 10,000 X e o gl

waq &1 e 35,000 X arrent =

QAT grgurgey et weat 2,000 X - geashi § 7g for@T € 39 ofF Yedehl W foT@T
2

T i oA I 2

YAHeaTehd @Tal, Ysit Td 9 98 ®H 1 gt S |

YAl

T, AT AT W€ 3: 2 : 1 & 1gurd § o died gl 31 "/ 2017 @ fogt g -

[6]
frgr 31 W 2017 =

CUR] (%) argfat T ()
GEEH 12,000 e o Trepe 10,000
Ysft.zem 38,000 EREL 20,000
aré 30,000 T2 30,000
T 20,000 88,000 =it 40,000
1,00,000 1,00,000

3@ Tl T TS STTEhRTIT UZUT AT ¢ | I |ISERT T 74T U™ 5 : 4 grm| Fetieha d
W -

1)
2)
3)
4)

5)

YA &1 9o 10% gemn A

Tt 28,000 X 9% wu foram =)

TR der arg A TAuia foran for St USt 39k & e fawTe orquTa ® gt 39k
foTu TTEiER T AN rYET @ AR

wH i T 1 gearswd 54,000 X foran wan e o Tt @mar @i St @
T T E)

I 3rarerter 72T WX 8,000 T Awre o T 9w 1idt 3Eek /U Wid § gEATARA R TE|

SudieRd FEATSH ¥ Y- Hedish @TaT, Uit @d 9 741 Fogt sAga|
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10
A and B are sharing profit in the ratio of 2:1. The Balance Sheet as on 31*
March, 2017 is as follows:
Balance Sheet as on 31* March, 2017

Liabilities Amount Assets Amount
i i

Creditors 21,000 Bank 10,000
General Reserve 9,000 Debtors 30,000
Capital: A 40,000 Stock 20,000
B 30,000 70,000 Building 30,000

Patents 10,000

1,00,000 1,00,000

They admitted C into partnership on 1% April, 2017. New profit sharing ratio
will be 3: 2 : 1. C brings in proportionate capital after the following adjustments:
1) C brings X 10,000 in cash as his share of Goodwill.
2) Building is valued at X 35,000.
3) There isan-old.typewriter valued X 2,000. Tt does not appears in the books
of the firm: It is now to.be recorded.
4) Patents are valueless.
Prepare Revaluation Acecount, Partners Capital A/c and the Balance Sheet of
new form.
OR
X, y and z sharing profits in the ratio of 3 : 2 : 1. The Balance Sheet as on 31*
March, 2017 is as follows:
Balance Sheet as on 31 March, 2017

Liabilities Amount Assets Amount
i ]

Creditors 12,000 Cash at Bank 10,000
Capital x 38,000 Debtors 20,000
y 30,000 Stock 30,000

z 20,000 88,000 Machinery 40,000
1,00,000 1,00,000

z retires on the above date and the new profit sharing ratio between remaining

partners will be 5:4. Following terms were agreed:

1) Machinery be reduced by 10%.

2) Stock is reduced to X 28,000.

3) xandy agreed that their capitals will be adjusted in their new profit sharing
ratio, by bringing in or paying cash to the partners.

SS—30-Accountancy 1063
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23)

11
4) Goodwill of the firm be valued at X 54,000 and adjustment in this respect
be made without raising Goodwill A/c.

5) zis paid X 8,000 on the date of retirement in cash and the remaining amount
is transferred to his loan account.

From the above information, prepare Revaluation Account, Capital Accounts
and new Balance Sheet.

AR Te1. 3 20,000 wwar 219 100X arer 1203 ufe 319 W A/t fohdt | e 36 IR o
2: amaga W 10T ufa ivr, seq w403 ufa sron(fufiem afgq), v vem o srfem i
b cdl

JATAS T UTC AT & [T k1 TARL. S o TAW & SAfaw 71T u¥ o7 Uiveat o foru femem
Srar E1 afe g arrees A fohen § A wwwa wivr e g
33,000 A9 & Tor& strered e gel 12,000 9 R aATeEeht sht 2,000 3791 Aafea

fF, 3,000 3790 % STTargehl i U T TS TS NY ATgeht i YUt e fowam mam)
THET I OOTET AT THS AT 31 TS

SURToRd SIAERI ok o1 svut i geaent # |4t fcftear it | (foeruor 6t stragaerar
&) [6]

R Ltd. issued 20,000 equity shares of X 100 each at X 120 per share. Amount
is payable : on application X 10 per share, on allotment X 40 per share (including
premium) remaining with first and final call.

Overpayments on application were to be applied towards sums due on allotment
and first and final call. Where no allotment was made, money was to be refunded
in full.

Application for 33,000 shares were received. Applicants for 12,000 shares were
alloted only 2,000 shares and applicants for 3,000 shares was refunded their
amounts in full. Full allotment was made to remaining applicants. All the money
due was received in full within time.

Make all the journal entries to record the above transactions in the books of
company. (Narration is not required)
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24)

25)

26)

27)
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@UE - o
SECTION - B

QU § % S UWT 2, Tk HIT | |1d 97 ¢ udrerforat st forelt Ueh WrT & |1a I9at

T T B
Section B has two portions. Every portion has a set of seven questions. Candidate
can attempt any set of seven questions of any one portion.

afas o TTraaa fagewor # =g 9 s foran| [1]

State any two differences between Horizontal analysis and Vertical analysis.

Tfg =re gred 1,50,000 X 81 aen =re] erqura 3:1 g1 av vl aeafaat 7 sl [1]
If current liabilities ¥ 1,50,000 and current ratio is 3:1, then calculate current
assets.

TR | T Sy a1 HEEER § a9 2012413 @t snaw 7rd g aw 2016-17 7

TC UN@EdAt o |IHA gq Sefd Sfaerd S [2]
(vm@ X #)

L 2012-13 2013-14 | 2014-15 | -2015-16 | 2016-17

T |

IR 20 22 25 28 30

Following are the information with regard to revenue from operations. Taking
base 2012-13, upto 2016-17 calculate trend percentage for measuring the changes.
(X in Lakhs)

Year 2012-13 2013-14 | 2014-15 | 2015-16 | 2016-17
Revenue from
operations 20 22 25 28 30

T 1. 1 gEaeRt | 31 W 2017 @t T 919 ford T smaTives ST STtad SiuTd {d
w0

e € e @ehel A < 2,00,000; Fererd | 7g owH < 30,000; |99re € IR
amget X 10,000; 91, ger X 50,000; stfaw ger 30,000 X1 [2]
The following balances are extracted from the books of x Ltd. on 31* March,
2017. Calculate Trade receivables Turnover ratio. Total gross revenue from
operations X 2,00,000; cash revenue from operations X 30,000; Revenue from
operations return X 10,000; opening debtors X 50,000 ; closing debtors X 30,000.

1063
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28) #ifer. & 31wt 2016 & 2017 <t U B4 ot a9 o 3 ferawor (enar—gri= fereron)

29)

= 3 ™ ) FuETeER e faerur TR

[4]

ferem e 9. 31 wr=t 2017 31 mr=t 2016
] i
I sm=
T ° W (g fershy) 24.,00,000 20,00,000
===
3) SATITHER EAA T T 16,00,000 12,00,000
q) R o aftgda 2,00,000 2,00,000
") Hed g™ 2,00,000 2,40,000
3) I T|A 1,00,000 1,60,000
FA =T 21,00,000 18,00,000
I ==& ga @ (1-10) 3,00,000 2,00,000
IV =ersd : STt 90,000 60,000
V R ug=ma ¥ (1-1V) 2,10,000 1,40,000

Income statement (statement of profit and loss) for the year-ending 31* March,
2016 and 2017 of C Litd. are given below: Prepare common size. Income statement.

Note 31 March 31% March
Particulars No. 2017 2016
i ]
I Income
Revenue from operations (Net sales) 24.00,000 20,00,000
IT Expenses
a) Purchases of stock-in-Trade 16,00,000 12,00,000
b) Change in Inventories 2,00,000 2,00,000
c) Depreciation 2,00,000 2,40,000
d) Other expenses 1,00,000 1,60,000
Total expenses 21,00,000 18,00,000
III  Profit before tax (I-II) 3,00,000 2,00,000
IV  Less : Income Tax 90,000 60,000
V  Profit after tax (III-1V) 2,10,000 1,40,000
W@ieRT | ATdeRar & &g IR &d feran| [4]
Write any four ethics in Accountancy.
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30) T=iTeRa TaATel § SWIfIRad AJUTd FTd hl: [6]
1) =T g
1) Hehel MY Ut
iii) o= U
1v) g ¥ T
v) T w gem
g g "wE X 10,00,000; R e s@mTes fafEm X 4,00,000; =@e]. wvataat
X 8,00,000; =me] g1RRea X 4,00,000; afmmes & smwm X 24,00,000 s T 15,00,000;
. wma X 1,90,000; sfaw wwwa X 1,80,000; wsigft X 90,000; wrEie™ &aH
T 80,000; ot vt WX sATt X 20,000; e T 40,000.

AAAT

Freifera gamTett | aTe U, @A SUT, BUT-WHAT A, T JJaTd T
I STHAT U AT H [6]
=Te]_ gaea X 1,00,000; 95t T 5,00,000; @@ @97 X 1,00,000; ew-gri= @
@1 shfge 919 X 1;00,000; 10% wor-u= X 3,00,000; FR-=req @eafaat X 7,00,000;
w4 < 2,00,000; s=marfies s X 1,50,000; g a e ged < 50,000.
Calculate the following ratios with the help of the information given below:
1)  Current ratio
11)  Gross Profit ratio
1i1) Operating ratio
1v) Net profit ratio
v) Return on investment
Plant and machinery X 10,00,000; Non current investment trade X 4,00,000;
Current assets X 8,00,000; Current liabilities X 4,00,000; Revenue from
operations ¥ 24,00,000; Purchases ¥ 15,00,000; Opening stock X 1,90,000;
Closing stock X 1,80,000; Wages X 90,000; Office salaries X 80,000; Interest
on Debentures X 20,000; Income tax X 40,000.

OR

From the following information, calculate current ratio, quick ratio, Debt-equity
ratio, proprietory ratio and solvency ratio.
Current liabilities ¥ 1,00,000; Capital ¥ 5,00,000; General reserve X 1,00,000;
Credit Balance of P&L Account ¥ 1,00,000; 10% Debentures X 3,00,000; Non
current Assets X 7,00,000; Stock ¥ 2,00,000, Trade receivables ¥ 1,50,000;
Cash and cash equivalents X 50,000.

Far/OR
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24)

25)

26)

27)

28)

29)

30)

15
wus -
SECTION - B
HIEGhd @l JUTTS! oF:lT 8 ?

What is computerised accounting system?

1T Higd FAT 2 ?
What is data model?

T TS Vil 9 3T T THd g ?
What do you mean by Excel spread sheet?

e e vd 9 g # o foriad|
Write difference-between spread sheet and-work book.
hea ™ TR SeRTs © AT w1 Juerd 2 7

What do you mean by-central processing unit?

T 97 HASTHE TUFen < ol sl |HHSATST |

Explain components of Data Base Management System.
e e w1 T ® AT |ivea § wwsnsd |

FYan
TH.TH. T vt it fesiaaredi =1 awzmed |

Explain application of spread sheet in Accounting in brief.

OR
Explain the features of M.S. Excel spread sheet.

> > >
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